Scatterplots between WMC and overall antisaccade accuracy, as well as antisaccade accuracy
across delays in the experiments.
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Experiment 2
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Experiment 3a
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Experiment 3b
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Experiment 4
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Experiment 5

WMC

\ 1 1 l T \ 1 1 l T \ 1 1
02 04 06 08 1 02 04 06 08 1 02 04 06 08 1

Anti20 Anti50 Anti80
r=.29 r=.32 r=.22

2 —_
i 09
! i g gefase
[e]
o 0 ) 8
= S ° l s
g -1 4 g o 8
2 %5 °°°
[o]
(o]
3 -

[ l I I | | [ l | I | | [ I | I | |
0 02 04 06 08 1 0 02 04 06 08 1 0 02 04 06 08 1
Anti200 Anti600 Anti1000
r=.19 r=.28 r=.23

I \ \ \ I 1 \ \ I 1 I
0 02 04 06 08 1 0 02 04 06 08 1

ANti1400 Anti1800

r=.26 r=.33



Experiment 6
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Experiment 7
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